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2.
3.
4 ax+b2
cx+d
5.
6.
6.1 1* ab a>b
a b c
(@) a>b b>c a>c
2 a>b atc>b+c
(©)) a>b
(@ ac>hc c>0
(b) ac<bc c<0
(c) ac=hc c=0
6.2 7
7x—-3<5x+1 i<x+1
2 2
2(x+1)<3(1—x) 2_475x<7x+1
5 7 4 8
63 1*+2
y y
y=x?-2x+3
y=x2-3x-10
2 Y\/s X 0 X
x?~3x=10>0 Xx<—2 x>5
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x2 -3x-10<0 -2<
x2 - 2x+3>0
X2~ 2x+3<0

a>0
e [0

a>0
(2 a<0 {b<0 {
(1 (x-a)x-B)<0

X <5

a<0
b<0
a<0
b>0

a<X<P

6.4

ax+b
paE— 1

cx+d

2a

S

(x=0a)(x=B)>0
X<a a<x<B x>B (x—o)(x-B)

3x2>Tx=1
« o x-1
x2+3
X>—+1
(@ x>0
(b) x<0
x>£+1
X
XA x4

2a

ax+b
_—
cx+d

(x+c)*+d>0
_1 1
2 6
x+221 x+2_120
x-4 X—-4
x#4)

(X+2)(x —4) = (x — 4)2
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2X+5

>1
4x -3
X x>0
o5 |X|={7x x<0 yZle
y Fx*- 4] 1
y Ex-4] vy 2
Y 1 y=x-4 Y y=ix*-4)
4
-2\ 0 z -2 0 2 "
1 2
6.6 |X|
X ¥ x -yl
L
@M [x<a -a<x<a
(%3] |x|>a Xx<-a x>a
Ix{<a Ix[>a

ra., dr

| x*+3x— 4| 26
y=| x2+3x- 4|

y=|x*+3x-4|

y=6

—_- e -
NP ==

-4 -3 -2 -

y:x2+3x—4
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y=x2+3x-4

y=6

N b

|/ e

—

x213x-4<-6 x2+3x-4>6

Xx<-5 -2<x<-1 x2>2

| [x+1-|x-1 | <1

X
X
X x220

6.7 1

a%+b? > 2ab

a;bz@ a>0 b>0

X>y Xx-y>0
a?+b%+c? >ab+bc+ca
3*+9
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